G6PD EERBMATNMEMRETERK SDI 53 fh[El

%812 LotNo : AED909N (2016-01-01 ~ 2100-12-31)  Change
Al EN =
1B EREE 1 : Lab004
| Control N | Control D |
QC Control Lot No. AE0909N | AE0909D |
IR ER AR Month CuM Month CUM
RIS (2018/11) |  (2018/05/30~2018/11/30) | (2018/11) |  (2018/05/30~2018/11/30)
SEEH (N) 4 26 4 26 |
RETFHE (Mean) U/gHb 14.7 14.7 5.7 5.7
REHZHEE (SD) 0.1 0.2 0.2 0.2
RE BRI (CV) % 0.7 1.4 35 35
B1Z{& (Target) U/igHb 14.4 14.4 5.7 5.7
43252 (TE) % 34 438 7.0 7.0
DA 4RRE (TEa) % 20 20 20 20
o >6 | >6 [ 57 5.7
R (Bias)% = { [ | REtFME (Mean) - B121E (Target)| ]/ B121E (Target) } x 100%
#AER7E (TE, Total Error)% = 322 (Bias)% + 2 x 25t ERE%E (CV)
o (Sigma) = (TEa% - F2Z (Bias)%) / 25T&EE&E (CV)
B#fst . 2018 11 Change ; ZETHIRE (CUM): B 2018 05 30 £ 2018 11 30 Change
[TOP]
Control N SDI 73 (&
Lot No.: AEO9OON ; 1&EREAR : 2018-05-30 Z 2018-11-30 ; E1Z(& (Target) : 14.4 ; 2E{Z#3Z (SD) : 0.40 EE1iI : Lab004
Lab004
+3 5.0,
+2 5.0, '3
. o .« * * . .
8.0 g « * * . . . . * . . .
Target 5 L
L ]
-1 5.0,
-2 5.D.
-3 5.0,
Date 05-30 06-06 06-13 06-20 06-27 07-04 07-11 07-18 07-26 08§-01 05-08 08-15 08-22 08-29 059-05 09-12 09-19 09-26 10-03 10-17 10-24 10-31 11-07 11-14 11-21 11-28
B#at : 2018 11 Change RETHAR (CUM) : B 2018 05 30 £ 2018 11 30 Change
[TOP]
Control D SDI 7 [E
Lot No.: AE0909D ; 158 #AR : 2018-05-30 & 2018-11-30 ; B1Z1E (Target) : 5.7 ; 2E1Z# 2% (SD): 0.28 B4l : Lab004
Lab004
+3 5.0,
+2 5,0,
+1 5.0, o a . . a a
Target = = = 23 =
o o o o o a o o o o
-1 5.0, o
-2 5,0, D
=3 5.0,
Date 05-30 06-06 06-13 06-20 06-27 07-04 07-11 07-18 07-26 08-01 08-08 08-15 08-22 08-29 09-05 09-12 09-19 09-26 10-03 10-17 10-24 10-31 11-07 11-14 11-21 11-28

R#rat

2018 11

Change

KETHAR (CUM) : B 2018 05 30 £ 2018 11 30

Change

[TOP]



Control N X Control D SDI
waNill

Lot No.: AEO909N ; iR5R 5 : 2018-05-30 2 2018-11-30 ; BZ(E (Target) : 14.4 ; 2E4E#3£ (SD): 040 (o)

Lot No.: AE0909D ; 18585 : 2018-05-30 Z 2018-11-30 ; BZ(E (Target) : 5.7 ; 2E1Z#3% (SD): 028 (n)

L ab0o4
+3 5.0,

+2 5.0,
+1 5.0,
Target
=1 5.0,
=2 5.0,
=3 5.0,

Date

BE{l : Lab004

i1

05-30 06-06 06-13 06-20 06-27 07-04 07-11 07-18 07-26 08-01 08-08 08-15 08-22 06-29 09-05 09-12 09-19 09-26 10-03 10-17 10-24 10-31 11-07 11-14 11-21 11-28

B#ftst . 2018 11 Change ; ZETHIRE (CUM): B 2018 05 30 £ 2018 11 30 Change

[TOP]




HiREREA GOPD EEME Nl mERETER (HR—)

#EFE LotNo : [AE0909N (2016-01-01 ~ 2100-12-31) | Change |

2 Reagent Kit * |1 - Trinity v| Change |
BIEN A = —
=
Hé&ata=
GEt At -
| | | Control N (Lot No.: AE0909N) i Control D (Lot No.: AE0909D) |
.4 || ReagentKit|| Target | Mean ||n for sp||CV | TE|TEa|| ||| Target | Mean | nfor|| . |CV| TE|TEa| _
UnitlD = o046y £ || (UrgHb) || (U/gHb) [ Mean |>](%)||(%) || (%) (U/gHb) || (U/gHb) | Mean||>" || (%)||(%)|| (%)
Lab004 1 144 || 147 | 4 Joalfo7][34]206[]] 5.7 5.7 4 ljo.2]3.5][7.0] 20 [5.7
Total - 147 || 4 Joalfo.7] - - 5.7 4 Jo2f3s] - -1 -

M7 (Bias)% = {[ | ?&1;&%@{5 (Mean) - EfE{# (Target) |1/ afrﬁﬁ (Target) } x 100%
R (TE, Total Error)% = 227 (Bias)% + 2 x REHEEEAE (CV)
o (Sigma) = (TEa% - 37 (Bias)%) / Bt RHE (CV)
[TOP]

R RS

EEHHAR : B (2016 v|[02 v|[01 v|Z [2018 v|[11 V]|[30 V|| Change

Control N (Lot No.: AE0909N) |:| Control D (Lot No.: AE0909D)
UnitlD Reagent Kit|| Target || Mean || n for D CV/|| TE ||TEa EH Target || Mean || n for CV|| TE ||TEa E
“ | (Code) | (U/gHY)||(U/gHb)|[Mean|~ | (%) (%)][(%) (U/gHb) || (U/gHb) |[Mean||>||(%)|| (%) || (%)

[Laboo3 | 1 ][ 144 |[ 144 ][ 267 J0.5]3.5][6.9][20]57][[ 5.8 ][ 5.8 ][267 Jj0.2][3.4][6.9][ 20 ][5.9]
[Laboo4 [ 1 [ 144 [ 146 [ 55 Jjo.3]2.1][5.5][20][>6][][ 5.7 ][ 5.6 [ 55 J0-2][3.6][8.9][ 20 |[5.1]
[ Laboos [ 1 [ 152 [ 13.5 [ 64 J0.5]3.7][18.6][ 20 |24|[][ 54 ][ 5.5 [ 64 ]0.2][3.6][9.1][ 20 ][5.0]
[Laboo7 [ 1 ][ 159 [ 13.9 ][ 346 J[0.9]6.5][25.5][ 20 [L1][][ 5.6 ][ 5.4 ][ 346 J0.4][7.4][18.4][ 20 |2.2]
[Laboos [ 1 [ 132 ][ 129 [ 45 Jj0.3]2.3][6.9][ 20 |[>6][]] 4.8 ][ 4.8 [ 45 J0.2][4.2][8.3][ 20 |[4.8]
[Labo0o [ 1 [ 144 ][ 143 [ 89 J0.9]6.3][13.3][ 20 |B.A][][ 5.8 ][ 5.9 [ 89 ]0.4][6.8][15.3][ 20 |2.7]
[Laboto | 1 ][ 158 [ 152 ][ 32 Jo.6]3.9]ir7)[20 42|l 6.2 ][ 6.3 [ 32 Jj0.4][6.3][14.3][ 20 |]2.9]
[Laboit [ 1 ][ 144 | 137 | 67 Jo3[22][92][20]>6|][ 58 ][ 57 | 67 |.|35||87|| 20][5.2]
Lab012 1 144 ][ 143 [ 122]jo.5]3.5][7.7][20 |[5.3][][ 5.8 5.9 ][ 122 J[0.3][5.1][11.9][ 20 |[3.6]
Lab013 1 145 ][ 13.8 ][ 40 Jo.3[22][92][ 20 |>6][][ 5.7 5.7 |40 Jo.1][18][3.5][20 |[>6]
Lab014 1 144 | 145 102 ]jos]3.4][7.6][ 20 |5.7)[][ 5.8 [ 5.6 ][ 102 ]0.2][3.6][10.6][ 20 ]4.6]
Lab016 1 147 | 147 [ 23 Jo9Jer]r22[ 20 33][][ 5.6 [ 53 ][ 23 Jj0.3][5.7][16.7][ 20 ]]2.6]
Lab029 1 144 ][ 143 | 20 JoaJo7][2.1][20]>6][J[ 5.8 | 5.6 ][ 20 Jo.1][1.8][7.0][ 20 |[>6]
Lab030 1 144 | 143 [ 3 Jos]3.5][7.7][20 |5.3][][ 58 5.4 3 J0.3][5.6][18.0][ 20 ][2.3]
Lab044 1 144 | 152 [ 57 |j0.9]5.9][17.4] 20 g: 5.8 6.3 ][ 57 Jjo.4|[6.3][21.3][ 20 ][1.8]

Total ] 142 |[1332]/0.8] 5.6 HIE 57 |[1332]j4[7.0] - ][ - ][ -]
Mz (Bias)% = { [ | B&HF T
gEsRs (TE, Total Error)% = BRE= (BlaS)% +2 x Rt RAE (CV)
o (Sigma) = (TEa% - g&7 (Bias)%) / RatEEREHE (CV)

[TOP]
| Reagent Kit |IReagent Code|

[Trinity I |




HARERE(r G6PD E &by NER L ESE

3% LotNo : [AE0909N (2016-01-01 ~ 2100-12-31) ™| Change |

&R (BRD)

3%E4F Reagent Kit * [1 - Trinity

v| Change |

| Control N H&feT8E Rt~ bhiez

SIEN#R_

Control N (Lot No.: AE0909N)
Month (2018/11) ] CUM (2016/02/01~2018/11/30)

N Reagent Kit Target Mean n for CV || TE | TEa Target Mean n for CV | TE | TEa
UnitD £ (Code) 1 (U/gtib) || (Urgtib) | Mean | SP | o) || o) | @) || © ||| Wrettb) | (Uigkb) | Mean | SP [ @) | @) | @) | ©
Lab003 1 14.4 - o -0 -0 - 20 J[-][J[ 144 14.4 267 J05][35] 69 ] 20 |57
Lab004 1 144 14.7 4 Joa][o7][34] 20 |[>6][][ 144 14.6 55 Jo3][2.1] 55 ] 20 |>6
Lab006 1 15.2 - 0 -0 20 - 152 13.5 64 J05][37] 186 20 |24
Lab007 1 159 - 0 -0 20 JL- 00 159 13.9 346 J09][65 [ 255] 20 [ 1.1
Lab008 1 132 - 0 -0 - -T2 -0 132 12.9 45 J03][23] 6.9 ] 20 ][ >6
Lab009 1 14.4 - 0 -0 20 - 144 143 89 J0.9|[63] 133 20 |3.1
Lab010 1 15.8 - 0 -0 - -T2 J[-][[ 158 15.2 32 Jo6][39]11.7] 20 J[42
Lab011 1 14.4 - 0 - - T - 144 13.7 67 J[03][22] 92 20 |>6
Lab012 1 144 - 0 = 20 |0 a4 14.3 122 [05][35] 77 | 20 |55
Lab013 1 14.5 - 0 -0 20 0= 145 13.8 40 Jo3][22] 92 ] 20 |[>6
Lab014 1 14.4 - 0 -0 20 JL- 00 144 14.5 102 Jo5][34] 7.6 [ 20 |57
Lab016 1 147 - 0 - 2o - 187 147 23 J[o9][61 122 20 |[33
Lab029 1 14.4 - 0 -0 -0 - 20 J[- ][ 144 143 20 Jo.a][0.7] 2.1 J 20 |[>6
Lab030 1 14.4 - o -0 -0 - 20 J[- ][ 144 143 3 [os][3.5] 7.7 ] 20 |55
Lab044 1 144 - 0 -0 -T2 -] 144 15.2 57 _J[09][5.9 ] 174 ] 20 2.4
Total - - 14.7 4 JoaJfoz ] - T - -1 - 142 1332 Jos][s6] - | - -

BR2E (Bias)% = { [ | BeF P9 (Mean) - BfE{E (Target) | ]/ BAE{E (Target) } x 100%
#8572 (TE, Total Error)% = 3RZ (Bias)% + 2 x BEE R4 (CV)
o (Sigma) = (TEa% - %2 (Bias)%) / BETEEAE (CV)
A4kt : [2018 v|[11 V][ Change F&HEART (CUM) @ & [2016 v|[02 V][01 V] Z [2018 V|[11 V][30 V][ Change
[TOP]
| Control D A&t Retéat 2 bilE |
| | | Control D (Lot No.: AE0909D) |
Month (2018/11 CUM (2016/02/01~2018/11/30)

_ Reagent Kit Target Mean n for CV || TE || TEa Target Mean n for CV|| TE | TEa
UnitlD £ (Code) * (U/gtib) | (Ulgtb) | Mean | SP{l @) | @) | @) | © || Wletib) || (Uighb) || Mean || SP{ @) || @) | @) | ©
Lab003 1 5.8 - 0 - - T2 - 5.8 5.8 267 |[02] 341 69 | 20 |5.9
Lab004 1 5.7 5.7 4 Jo2][35]7.0] 20 |57 5.7 5.6 55 Jlo2]3.6][89 ] 20 |5.1
Lab006 1 54 - 0 - - 20 - 54 55 64 |[02]36][ 91 | 20 [5.0
Lab007 1 56 - 0 - - 20 |- 56 54 346 |[04] 7.4 |[184 ] 20 |22
Lab008 1 48 - 0 - - T2 - 48 48 45 J[o2] 421 83 | 20 |48
Lab009 1 58 - 0 -1 - T2 - 58 59 89 |[04| 68 |[153] 20 |[2.7
Lab010 1 6.2 - 0 - - 20 - 6.2 6.3 32 |[04]63][143] 20 [[2.9
Lab011 1 5.8 - 0 - - 2o - 5.8 5.7 67 |[02]35][87 ] 20 |52
Lab012 1 5.8 - 0 - 20 - 5.8 5.9 122 J[o3][ 51 ][11.9] 20 |36
Lab013 1 5.7 - 0 N 57 5.7 40 J[o1][1.8][ 3.5 | 20 |[>6
Lab014 1 5.8 - 0 - - 20| - 5.8 5.6 102 |[02] 3.6 106 20 |46
Lab016 1 5.6 - 0 S - 20 - 5.6 53 23 [o3]57][167] 20 J2.6
Lab029 1 58 - 0 -1 - 20 - 538 56 20 |[o1] 18] 7.0 | 20 |[>6
Lab030 1 5.8 - 0 - - 2] - 5.8 54 3 J[o3]s6][180] 20 |23
Lab044 1 5.8 - 0 - - 2o - 5.8 6.3 57 Jlo4]63][213] 20 |18

[ Toal | - L - [ s7 4 Jozffasf - [ - - - [ 57 [[132]04]70] - [ - [-]
B2 (Bias)% = { [ | BP9 (Mean) - BE{E (Target) | ]/ BAE{E (Target) } x 100%
#EzR7= (TE, Total Error)% = g7 (Bias)% + 2 x REHBE/AB (CV)
o (Sigma) = (TEa% - %2 (Bias)%) / BETEEAE (CV)
B&Et ¢ [2018 V][11 V]| Change FHEHART (CUM) : H [2016 V] [02 V][01 V] & [2018 V| [11 V][30 V]| Change
[TOP]

Reagent Kit

||Reagent Code|

[Trinity

1
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